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QUESTION 1

What are three characteristics of a transport zone? (Choose three.)
A. defines the potential reach of transport nodes

B. configured with a Single N-VDS

C. defines the scope and reachability of a Segment

D. configured with multiple N-VDS

E. optional for creating a segment

Correct Answer: ABC

QUESTION 2

Which two choices are use cases for Distributed Intrusion Detection? (Choose two.)
A. Identify security vulnerabilities in the workloads.

B. Use agentless antivirus with Guest Introspection.

C. Quarantine workloads based on vulnerabilities.

D. Identify risk and reputation of accessed websites.

E. Gain insight about micro-segmentation traffic flows.

Correct Answer: AC

QUESTION 3
How does Traceflow tool identify issues in a network?
A. Compares intended network state in the control plane with Tunnel End Point (TEP) keepalives in the data plane.

B. Compares the management plane configuration states containing control plane traffic and error reporting from
transport node agents.

C. Injects synthetic traffic into the data plane and observes the results in the control plane.
D. Injects ICMP traffic into the data plane and observes the results in the control plane.

Correct Answer: C

QUESTION 4
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Which tool could be used to inspect the path of a packet in the data plane?
A. Port Connection

B. Port Mirroring Session

C. Netflow

D. Traceflow

Correct Answer: D

QUESTION 5

Which two choices are prerequisites to configure NSX-T on VDS? (Choose two.)
A. MTU 1500

B. MTU 1400

C. vSphere Distributed Switch 6.5

D. vSphere Distributed Switch 7.0

E. MTU 1600

Correct Answer: DE

https://docs.vmware.com/en/VMware-NSX-T-Data-Center/3.0/installation/GUID-
BA34FB2A-6780-41C5B895-F37E5A7B7BAE.html
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